Probability

S ={B,B,R,R,R}

(Z(S,BB) = (33(S,B) x (33(S,B) = 0.40x 0.25 = 0.10
(Z(S,BR) = (33(S,B) x (3B(S,R) = 0.40x0.75 = 0.30
(Z(S,RB) = (33(S,R) x (33(S,B) = 0.60 x 0.50 = 0.30
(G (S,RR) = (3B(S,R) x (3B(S,R) = 0.60 x 0.50 = 0.30

£3(S,BB) = £ (S, B) x &3 (S,B) = 0.40 x 0.40 = 0.16
£3(S,BR) = £ (S, B) x &3 (S,R) = 0.40 x 0.60 = 0.24
£3(S,RB) = &3 (S, R) x 3 (S, B) = 0.60 x 0.40 = 0.24
3 (S,RR) = £ (S,R) x 3 (S,R) = 0.60 x 0.60 = 0.36

s={cc,c,C,C,C,C,C,C,C,C,C,S,S,8,8,5,V,V, V)
P(3(S,€C0)) + P((3(S,85)) + P((RE(S,VV)) =?



Probability

s ={c,c,c,c,c,c,C,C,C,C,C,C,S,S, S, 8,8, V,V, V)
Ges.2)= (%) =22 =19

Ga(s.co) = (7) =B =66
G (5,89 = (3) = % =10
G6.vY) = (3) = % =3

P((3:(8,CC)) + P((Z(S,85)) + P((ZE(S,VV)) =

(Z(S,CC) +(Z(S,88) + (S, VV))/(3:(S,2) = (66 +
10 +3)/190 = 79/190 =~ 0.42




